B I (Three Year G)
Under 1+1+1 System

2018

GEOGRAPHY (General)

FIRST PAPER

( Revised New Syllabus )

Time : 2 hours ' Full Marks : 50
The figures in the margin indicate full marks.

SECTION—A

Answer any one question : 20

1. Explain the continental drift theory as
proposed by Wegener.

2. Discuss the development of karst landforms
in the limestone regions of the world.

SECTION—B
Answer any twe questions : 10x2=20
3. Discuss briefly the interior of the earth. 10

4. Classify sedimentary rocks with suitable
examples. 10
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5. Briefly describe different types of fault with
suitable diagrams. ; 10

6. Write about hydrological cycle and mention
its importance. : 2+8=10

SECTION—C

7. Write short notes on the following : 2x5=10

(a)
(b)
(c)
(d)
(e)

Moho discontinuity
Rift valley
Knickpoint
Barchan

Infiltration
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B I (Three Year G)
Under 1+1+1 System

2018

GEOGRAPHY (General)
SECOND PAPER
( Revised New Syllabus )
Time : 2 hours Full Marks : 50

The figures in the margin indicate Jfull marks.

SECTION—A

Answer any one question : 20

1. Describe different types of rainfall with
suitable diagrams. 20

2. What are the major soil-forming factors?

Analyze the role of climate as a factor of soil
formation. 4+16=20

SECTION—B
Answer any two questions : 10x2=20

3. Mention the adaptations and characteristics _
of mangrove vegetation. S+5=10
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(2)

Explain the origin and characteristics of
monsoon wind with suitable diagrams. 5+5=10

Mention the characteristics of B and E
climates: as proposed by Képpen. 5+5=10

Define soil profile. Explain the characteristics
of soil profile. 2+8=10

SECTION—C
Write short notes on the following : 2x5=10
fa) Xerophytes
(b) Land breeze
(¢) Doldrums
(d) Soil texture

(e) Dewpoint
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B II (Three Year G)
Under 1+1+1 System

2018

GEOGRAPHY (General)

FOURTH PAPER
( Revised New Syllabus )

Time : 2 hours Full Marks : 50

The figures in the margin indicate full marks.

SECTION—A

Answer any one question : 20

1. Give an account of the human’s adaptation
in the cold region.

2. Discuss the various social and economic
characteristics of an underdeveloped
economy.

SECTION—B
Answer any tweo questions : 10x2=20

3. Bring out the salient features of population
problems in India. 10

4. Differentiate between rural and urban
settlements. 10
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5. Discuss the scope and content of social
geography. 10

6. Give a brief account of the characteristics
and distribution of Mongoloid race. 5+5=10

SECTION—C

7. Define the following terms : 2x5=10

(@)
(b)
(c)
(d)
(e)

Linear settlement
Population explosion
Man-land ratio
Optimum population

Transhumance
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B II (Three Year G)
Under 1+1+1 System

2018
GEOGRAPHY (General)
FIFTH PAPER
( Revised New Syllabus )
Time : 2 hours Full Marks : 50

The figures in the margin indicate Sfull marks.

SECTION—A

Answer any one question : 20

1. Give an account of the regional concentration
of iron and steel industry in Eastern India.

2. Discuss the geographical distribution of
wheat production in India.

SECTION—B

Answer any two questions : 10x2=20

3. Write a short note on different economic
activities.

4. Write a note on global distribution of
petroleum.
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5. Write a short note on the classification of
resources, -

6. Give an account of commercial grazing with
reference to commercial sheep rearing.

SECTION—C

7. Write short notes on the following = 2x5=10
(a) Rabi farming
(p) Exhaustible resource
(c) Primary activities
(d) Bituminous coal

(e) Mixed farming
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B IIl (Three Year G)
Under 1+1+1 System

2018

GEOGRAPHY (General)
SEVENTH PAPER

( Revised New Syllabus )

Time : 2 hours Full Marks : 50

The figures in the margin indicate full marks.

SECTION—I

Answer any one question : 20

1.

Describe different drainage systems of India
with special reference to Indus, Ganges and
Brahmaputra drainage systems. Distinguish
between the rivers of Northern Plains and
Peninsular Plateau. 12+8=20

Discuss the characteristics and problems
of Indian agriculture. Suggest different
measures to solve the problems. (7+7)+6=20
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SECTION—II

Answer any two questions :

3. Give an account of the socioeconomic
conditions of Bhils.

4. Divide India into major soil zones and
describe the characteristics of each zone.

3+7=

5. What are the major causes of deforestation in
India? Also mention the steps to check this.

5+5=

6. Describe the problems and prospects of
hydroelectric power generation in India.

5+5=

SECTION—III

7. Define the following terms : 2x5=

(a) Deccan Trap

(b) Footloose Industry

(¢ Man-land Ratio

(d) Non—cénventional Energy

(e) Internal Migration
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B III (Three Year G)
Under 1+1+1 System

BA Part-III (General) Practical
Exam., 2018

GEOGRAPHY (General)

EIGHTH PAPER
[ Set-III ]

( Revised New Syllabus )
Time : 3 hours Full Marks : 50

The figures in the margin indicate full marks.

1. Draw the histogram, frequency curve and the
ogive for the following data : 20

Class Interval : 90-100 100-110 110-120 120-130 130-140
Frequency 3 10 35 140 300 370
Class Interval : 140-150 150-160 160-170 170-180 180-190
Frequency 2 320 200 75 45 15

2. The following data relate to the expenditure
of two families per month. Represent the

data by pie diagram : 15
Items of Expenditure : Food Education Clothing Health Miscellaneous
Family-M : 60 80 20 30 10
Family—-N : 160 150 100 100 90

8MRD/461 ( Turn Over )




(2)

3. (a) Find out the relative humidity from the
hygrometer given to you at page no. 3.

(b) Who invented Six’s maximum and
minimum thermometer? 7+3=10

4. Laboratory notebook and viva voce. 3+2=5
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For Q. No. 3{a)
RELATIVE HUMIDITY TABLE
Dry Bulb Depression of Wet Bulb °C
Reading
°c 0.5 1-0 1.5 2.0 2.5 3-0 3-5 4.0 4-5 5-0 5.5 6-0 6-5 7-0 8-0 9-0 100 11-0 120
5 85 71 %8 44 30 T 4
=4 87 73 81 45 % 58 12
-3 B8 75 64 52 40 29 18 7
e o i e L )
-1 8 70 69 6% 4 3 3 2 10 {1
0 9 8 71 61 5 4 34 ¥ 18 7T
+« 00 B 73 64 55 47 3¢ 29 20 13 4
DR v T o e G L B e P I
I I T T A B e R
4 92 83 76 87 59 51 43 35 32 25 18 11 -4
5 92 B4 76 68 61 53 46 38 3 M4 2 15 8 2
6 92 B85 77 70 62 55 48 4 34 27 20 14 12 6
7063 8578 71, 64 8T .50, 44 3¢ 90 2% % A1 6
8 03 8 79 72 65 % 52 4 W @ xw A 16 0
9 03 8 80 73 67 60 54 48 42 36 30 24 18 12 12 3
10 93 87 8 74 63 62 55 50 44 38 33 27 21 16 15 6
11 94 8 81 75 69 63 58 52 46 41 35 30 24 19
12 o4 g8 82 76 70 65 69 54 48 43 37 32 277 @ AN 12 4
13 94 88 B3 77 71 66 B0 55 50 45 40 35 30 25
14 o4 B9 B3 78 T2 BT 62 57 52 41 42 3 32 27
45 o4 89 B4 78 73 68 63 58 53 48 42 39 34 30 28 20 13 4
16 05 8) B4 79 74 69 64 50 55 50 43 41 37 32
i7 95 90 8 80 76 70 65 61 56 52 47 43 39 M
8 95 o0 8 80 76 71 66 62 57 53 49 45 40 3 35 27 20 13 6
19 95 90 B85 81 76 72 67 63 50 54 50 46 42 38
20 9 91 @ 81 77 73 68 64 60 56 52 48 44 40 38 30 A4
24 9 '91 88 B2 78 73 60 65 61 57 53 40 45 42 39 32 26 18 13
22 95 9 87 82 78 74 70 66 62 68 54 50 47 43
oglies B 8r M. M 75.71. 07 63 59 BS 62 43 45
24 96 91 67 8 79 75 71 68 64 60 657 53 49 46 43 37 31 26 2
25 96 92 B8 B4 80 76 72 68 65 61 58 54 51 47 44 38 33
2% 9 92 88 B4 B0 76 73 69 66 62 59 65 52 48
27 9 92 88 B84 81 77 73 70 66 63 59 56 53 S0 47 41 36 3 26
28 9 902 88 8 # 77 73 71 68 65 61 58 S5 83
20 96 93 90 86 82 78 74 72 68 66 63 60 S5 o
90 9 93 00 86 B2 79 76 73 70 67 64 61 58 55 50 44 39 35 W
93 906 93 90 86 83 80 77 74 71 68 66 63 B0 57 52 47 42 1 33
35 06 03 o0 &7 &3 80 77 74 7 70 66 64 60 59 54 50 44
dg 67 93 90 8T B4 Bl 76 75 T2 70 64 59 54 50 45 36
39 87 94 A1 @8 85 8 N W 4 N 66 B1 56 52 47 43 39
40 94 88 12 66 61 58 52 48
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